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6. An instrument for measuring the speed of

7. After Gupta dynasty, in the middle of

"~ (B) Gujarat

(1) (MT 0)

Bhagavad G

°  compiled by
(A) Shankaracharya (B) Madvacharya
(C) Veda Vyasa (D) Vallabhacharya

ita was said to have been

What is the nature of the image formed due
to concave mirror when object is placed
beyond centre of curvature ?

(A) Real and inverted

(B) Virtual and erect

(C) Real and erect

(D) Virtual and inverted

During heavy exercise, we get cramps in
the legs due to the accumulation of

(A) Carbon dioxide (B) Lactic acid

(C) Alcohol (D) Water

Sodium hydrogencarbonate on heating
produces

(A) Sodium hydroxide

(B) Sodium oxide

(C) Sodium carbonate

(D) Sodium

The land cultivated by Kurus was called as
(A) Bahudhanyaka (B) Adiroopa

(C) Prajotpathi (D) Angeerasa

wind is

(A) Odometer
(B) Speedometer
(C) Anemometer
(D) Barometer

Sixth Century AD, established

supremacy over Punjab.
(A) Pallavas

(C) Kadambas
(D) Huns'

ST FEg I Fshdm 3 F D w@ o @
m??ﬁm%maﬁa@uﬁﬁaﬁﬁﬁ
AT 7

(&) Tt TR e

(B) ATHTE TR e

(C) aTeafash 7R Hien

(D) Mt 3R Iea

) saram & e, 9 o 7l

F TR % N0 BT 8

(A) FEH SEATHEES (B) wides 3T
(C) 3Tchia (D) v

Afem TR R
Ieq1 R 2

(A) Tfeam BEgaETRe

(B) Hifead ATFETES

(0) Hifead FEe

(D) wfeam

3T <6 TR T A R
(A) SRR

(B)

(C)

(D) ST

ww%m,imﬁwaa%m
 gorre w ada et R
(A) e -

) T
(C) had

(D) §1
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A i i A
; he number which g
Y. mong the options,

() 1001

(C) 1010

Not like the other

(B) 1100
(D) 1119

o, Haryana is the first State to launch
(A) Satellite
(5) Mabhila Pojjce Volunteer
(C) Kissan Budget
(D) Aryabhat

10. Cons‘i‘der the foHowing with reference to the
term Sovereign State”.

() A.Country can be a sovereign with or
Without dominion of any other nation

(B) Sovereignty is compromised while
getting membership in the UNO

(C) Both are right
(D) None

Solutions of the equation
V5x? —8x +3/56 = 0 are

(A) \/5% (B) 5,3
(C) V5,3v5

Prabhakara Vardhana, the first king of
Vardhana dynasty was the ruler of

(A) Thanesar (B) Kurukshetra
(C) Geeta Vardhana (D) Patna

11.

(D) 4,2

12,

Which of the following Article provides that,
‘The State shall not discriminate against

any citizen on grounds only of religion, race,
caste, sex, place of birth or any of them’ ?

(A) 13 (B) 14
(C) 15 (D) 16

13.

Governor acts as the nominal head and the real
power of administration of the state lies with

(A) Prime Minister (B) President
(C) Chief Minister (D) People

14,

8. Ig e ya i Wit faehedl #
&l 21
(A) 1001 (B8) 1100
(C) 1010 @ 1110 e
o ghaom T
i
A) 39UE .
((B) nfgen gfed EAEE
(¢) fergm ssie
(D) g
10. 'éﬂﬁm"mﬁ%ﬂ?’fﬁﬁ‘:‘wm
T@%wmaﬂaﬁmw%mm
S T G938 Fehdl § .
3 grer e foRe o1 W €
(C) i EE®
(D) g T
11. /B2 — 8x + 35 = 0 FHIHFW &
3
(A) ‘/5’7‘5 (B) 5,3
(C) 5,35 (D) 4,2
12. TR, T IR AT ST
T SITHE AT)
(A) UTER (B) TE&
(¢) T aeq (D) 9T
13, fF=foifad # @ SH-91 31g<ag TaHM

14.

? o5 =g o, 5w, fomn, snfa, St & v
& TR G Tt Amfien <A1 Siferd =& s ?

(A) 13 (B) 14
(C) 15 @) 16

I 7 A S B e e R af
T ST i S foreh Sifere 341 H fed &
(A) FerFEf (B) Tgafd

(€) gEETAt (D) <
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‘ONE’ can be 15. AR ONE' %1 %7 19413 = ey
1% c’:fan be coded as T F 39 @ WO F s
(A) 50 (B) 48 (A) 50
(C) 58 (D) 68 (C) 58 ((g; ‘;2
16. A current of 0.5 A is drawn by a filament | 16, f&g-a ) & fore
of an electric bulb for 20 minutes, find the E-: T T N 20:;:3 # e
amount of electric charge that flows through 0.5 A forege off et 81 °
the circuit. et ﬁ?l?f S Y wy T A
(A) 300 Coulomb (A) 300 Fer
(B) 600 Coulomb . (B) 600 FHer=t
(D) 20 Coulomb (D) 20 et
17. Readthe following statements with reference |  17. Prefefaa wodl F1 FTHN fearrerl 1
to features of Kashmir Himalayas. fsraaradt & e ufet |
. They are famous for Karewa formations, C YmE > g 2
il. Karewas are the thick deposits ;4 ;qﬁ&m$ mﬁz%mﬂﬁ%
of glacial clay and other materials i, = Eﬁ[an
embedded with moraines. 7=7 garelf 1 HIeT ST ¥ |
ii. They are useful for the cultivation of i, A ¥R A IO F AU ST R |
Zaffran. e FHEHI T TS g
iv. Srinagar, the capital city of the state V. ":u{\ﬁ 3?!‘(@ a %ﬁ
of Jammu and Kashmir is located on T W ‘
the banks of Jhelum River. IR T‘;Iﬁf‘l s
Select the answer code : i i, i SN
(A) i, ii and iii (B) ii, iii and iv (b0 i (B) L1 S
(C) all the above (D) iil and iv only (C) v a+f (D) iii 3R iv hered
18. All triangles are similar. 18. ™t P omsgsa i)
(A) lsosceles (A) THgsTg
(B) Equilateral (B) wHeTg
(C) Obtuse angled (C) AftrReniul
(D) Right angled (b) wHeR
19. In2016-17, Haryana GSDP is growing at 19. 201 6-17“3, TREOTH GSDP
(A) 6.7 percent R R
(A) 6.7 gfama
(B) 7.6 percent : " (B)" 7.6 3R
(C) 8.7 percent (C) 8.7 ufayma
(D) 10 percent - (D) 10 wfewrg
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20

21.

22.

23.

24,

| T
!lHIHILIIIJIIITIIIII(IjOes (W a“imd

carrying goods.

a t
duty dities out of

non-G gT commoO
jculars.

" diesel

i. High speed

i; Aviation Turbine Fuel (ATF)

iii. Petroleum crude

iv. Motor spirit or petrol

v. Natural gas
Choose the right answer gi\_l‘erlwubeiow .
(A) i, ii and iii (B) ii, 1l and v
(©) i ii iitand iv (D) All the above

The equations ax + 9y = 1.and 9y-x—-1=0
represent the same lineifa=

(A) 1 (B) -1
(€) 9 (D) None of these

Consider the following :
1. Sambhar lake is a salt lake.
2. Chilka lake is a fresh water lake.

3. Vembanad lake is a back water lake.

Which of the above is /are correct ?

(A) 1and2 (B) 1and3
(C) Alitheabove (D) 3only

If m cot A = n, then the value of
msinA-ncos A is

ncos A +msinA

() T B m-n
n-m n2 —m2
m2 —n2 n2

© M2 + 2 (D) m+F

Haryana is situated between .‘

(A) 27°37' to 30° 35' North latitude -
(B) 37°37' to 30° 35' North latitude
(C) 47°37' to 30° 35' North latitude
(D) 57° 37' 10 30° 35' North latitude

|-k

4/2018 (1) (M10)
20. SR o Tt STaehTd) Yespareh s s
Rﬁ%lﬁw%iiaaﬁam%ﬂt-sﬁmmiﬁ
EURIGET E ]
i. 3T e
il. IS T §u (ATF)
iil. = YefeEm
iv. Iﬁaf@f{zmﬁ?ﬁa
v. WTehfaeh g
ﬁﬁmwmﬁmgﬁq
(A) i, ii 3 i (B) ii, iii 3T v
(C) iii,ili v (D) IFameft
21, THRO ax + 9y =13 9y —x-1 =0T
W Heidgaka=
(A) 1 (B8) -1
() 9 (D) TR HE T

22, Ty=feiRas W foem R
1. ¥R 3 v sfia R |
2. o ofie Wi uril i o R
3. dTE 3 uvE e =i R

IR AT RA-T TR ?

(A) 132 (8) 133
(C) 3%ausf (D) ¥ 3
23. ﬁhcotA:n,;ﬁ msinA—ncosAEr
LICES ncosA + msinA
iA) n2 +m2 (B) [f;z;nz
n-m ‘ nz,__mz
© mort . i

(A) 27°37' ¥ 30° 35' I AT
(B) 37°37' ¥ 30° 35 Ial AW
(C) 47° 37" | 30° 35" I &M

(D) 57° 37" | 30° 35' I AW
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Scanned by CamScanner



istorian
. (Mw) he following Brii pl;l:f;oire
t / t 0
x Whg a:in;r(:ggn historyllr_m; E}hre
l({llivr:dj Muslim and British ¢
(A) James Mill

27.

28.

A man invited som

(B) Warren Hasting.S
(C) Sir Thomas Smith
(D) Annie Besant

e boys and girls on the

‘ mber of boys was

' of his son. The nUMBS
b,Thsdsa{han the number of girls. Hehgayle
25910 1o each boy and Rs. 20 to eac girl.
If tt.1e total amount distributed by him was

Rs. 280, the number of boys was
(A) 25 (8) 10
(C) 8 (D) 15

Two coins are tossed simultaneously. "I'he
probability of getting exactly two head is

(A) 1 (B) %

© ) o %

Three cubes each of side 5 cm are joined
endto end. The surface area of the resulting
solid is

(A) 15cm?

(B) 175cm?

(C) 350 cm?

(D) none of these

Rabi crops are SOwn at the end of
(A) Qctober

©) December

(B) NOVember

The 2018 Nobe|
Medicine s conferred tg
(A) Michag| W, Young
(B) Tasuky Honjo
(C) Michag| Rosbash
O) Jefirey ¢, gy

25.

26.

27.

28.

29,

30.

LG 1 Ry
mw?am%a,maﬂx%ﬁm@
(A) S firey

(B) 1 ey

(C) W Uiny fay

(D) T adge

T ST 3o 3 % -
m@mﬁzmélm@ﬁ
?ﬁgﬁ%ﬁo—ﬁ? ﬁﬁm H 3, QOFE:
GEEIEIR b I %, 2803 &
£ 25 B) 10

(€) 8 0) 15

<1 TRl ) Ty ‘
T 30 i & 7 TR 13
") 1 (B) 12

© /3 ® )i

5 M 1 o1 W S 3y s

R | oM B 8 e 2 gt
(A) 15cm2

(B) 175 cm2

(C) 350 cme

(D) 7 & e 7

el 1 e ¥ sin i
T 7

(A) HeFgel{ (B) TR

(C) femem (D) Sl
faferear am afweft & g =1 2018 1 A%
W__ﬁﬁﬁmWI

(A) WTEhe Soeq . T

(B) T Bien

(C) firgrer Teammw

(D) < Hi. g
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“' 31. If p* — 6P + 7 is divided by p - 1, the | 31, af p*—6p+ 79N p—1 & R frn s
o remainder will be 2, 91 I g
g (A) Positive (A) HTeHh
3 (B) Zero (B) A
1 (C) Negative (C) =HUTTeHeh
E (D) None of these (D) =8 & g 7
- .
] 32. The most important distinguished feature | 32. GwRT 3% T e §ht "atftus i el
H of the Federal form of government is ey foriar 3
g, (A) Having Supreme Court in each (A) mmﬁaﬁﬁm
- . State i .
@ (B) Having two citizenship, one at the (B) 1 AWTiGRand BT, TF 3 TR 3R
: Central Gowt. and another at the State Ec\Gfl TS TR 6l
Gouvt. ; Tt T T
(C) Distribution of executive powers (©) ?ﬁﬂﬁﬁl‘?m
equally between Centre and States
(D) State govemments vested with the power (D) TT a&R & Oy RICAR=CR et o q
of seceding from the union or federal 9k B Y i 3 ,
If'a’means ‘4, ‘0’ means ~,'Cmeans‘vand | 33. Ife ‘a’ s 1Y '+, ‘D" T Y ~,'c e
'd’means ‘x’ then, 25 ¢ 5d 8 b10 415 - I3 ¢ 25¢5d8p1g at5=
(A) 55 (B) 40 (A) 55 (B) 40

N (_.
S years ago, father's age was 5 times as |

34. '
old as his son and after 3 years, he will be S T e A T A A F 57

. ; ; 0, 33 wrrg R <y
3times as old as h AF ? ST T3 A1 311g 7
o as his son. Find the present 3 T Bty i e g T2 ;?'Trg
(A) 10vyears (A) 1094
(B) 13years ‘ (B) 139d
(C) 12 years ' (C) 129%
(D) None of these ' (D) gﬁﬁqﬁgqﬁ
If2is a zero of poj ial p(x) = 452 4+ oy
then valug of F;"i:mm'a PX)=4x+2x-5a, | 35, %ﬂ% ag[ aww mp%(x)=4x23-2x—5a51@®
(g) 5 (B) 4 | (A) 5 B 4
© sia ©) -4 (©) 54 © -4
The Haryana Municipality (Amendment) Bill | 36, =RemTRRTY ()
was passed during the year - . aﬁa;aqqqm%mnm £
(A) 2014 (B) 2015 - (A) 2014 . (B)-2015
C) 2016 (D) 2017 (C) 2016 (D), 2017 .
i = ‘J
2 ¥ A
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i ents -
a7 Consxderthefo\lown g stat 0 ears ,°f
4. He was sente ‘ Sars i
imprison y
man. arie
2 ?-lr;dv:asstudle in Englatr;si:r;i et
. volutlo ary an ol
?t:;ﬁrivith Lal ngd;yagt:ﬂad
a
Dhingrf, ved n:Jrga tion calle
He se _
AbhinaVv Bharat soclé
The personality referred here |
(A) Rash Bihar oS
Vv.D. Savarkar
c) Lala Lajpath ROY
(D) Ram prasad Bism!
Find the termwhich is different from the other
three among the four options given below.
(C) Pencil (D) Cook

41.

38.

)

40.

Bhuteshwar temple is situated in the
district of
(A) Bhiwani
(C) Jajjar

(B) Jind
(D) Panipat

pugyals, a unique type of vegetation found
in Himalayas is the

(A) ig?;r:er grasslands in the Himachal

(B) Sum i i

T N

3 gmf:::g:is inthe Arunachal
S Sgrasslands in the Eastern

Th i
e solutions of system of equation
S

ax+by-a+p=
re +.b-Oande—ay_a_b__0

(A) x=a+b,y=a_p
(B) X=-a+b,y..

(C) x:1’y=_1 ==-a-ph
©) x=0,y<q

ar7.

38.

39.

40.

41.

T |
- glllllllllllllll“lllll Iy
1. 3@ 50 @Sl &g :
2. IBM TS H UG H aiiy

3 few e =R fershedi -
Epany o

() (B) F™

() Ut (D)

SJaTar A ISR

(A) forart (B) e 3
(C) TSR (D) UHIug

e, femrer @ 9 S

TR ol ST B T

(A) TerTera &3 | sy e & #ew

(B) fafarm femmera © iy umg & fem
(C) wewmere femmery ® fisy =g & M
(D) Y werfeat # v wrg & Bew

THIF 5
X+by_ s
i o a+b=03Nbx-ay-

A) X=a+b,y=a_b
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42. Select the correct statement from the
following.

(A) Heterotrophs survival depends directly

or indirectly on autotrophs.

(B) Carbohydrates are stored in the form

of glycogen in plants,

(C) The process of acquiring oxygen from

outside and use it in breaking down
of food source for cellular needs is
photosynthesis.
The complex substances are broken
down into simpler ones for the growth
of the body using biocatalysts called
lipids.

(D)

Which of the following is incorrect ?

(A) 1935 Government of lndia. A‘ct
provided for establishing Provincial
Public Service Commission

1909 Government of India Act provided
for separate electorate to Muslims
1919 GovemmentofIndia Actintroduced
for the first time bicameralism and
direct elections in the country '
1947 Independence of India Act provided
forﬂweinduclionoflndiaimooommonwealm
group of nations (Commonwealth)

43.

®
©

(D)

44. InHaryana, the district which gets the lowest

rainfall is

(A) Faridabag

(B) Rohtak
(C) Sirsa

(D) Hisar
45. Find the missing term (?) from th
for MQ, 2, AE, HL, 0S8, vz.

(A) TX (B) sSx

©) Tz @) Ty

Haryana is |

e options

46. The ancient epic of

(A) Rigveda

(B) Bhagavag Gita
(©) Yajurvegs'
(D) Osho

4/2018 (1) (M10)

Frferfae @ we) e g .
3 (A) Y SrEE AT T T Y E P

Sy =g 3 e fef e §) :
Frterese Nl H v & w9
reTftd Brd &
:231 TS AR 3T R
SRt & forg e Eﬁ?ﬁmﬁ
Sqefea ot T w6 Wi
HYTT B .
ifet e TR b i 3 fore et waedf
IS S 2

Praffan § & BH-a s 7

(A) 1935 W o Hfaform i eien
HET IR ) FA0T | Tl

(B) 1909 1+t wehT v mitem
%mgwmmmmm%

(C) 1919 51 i T arferforem 3 2y 3
S SR e I T@E T Y
J[ERTT |

(D) 1947 W@ %Y sz AHfafam 3
gﬂﬁw%ﬁ%wﬁmﬁm

(B)

(C)
(D)

43.

44, mmmmmmwmm%
(A) RieEme

(B) o=
©) R (D) feur
45, :ig, % AE, HL, 08, vz & TC@ 9T (?) I
l
(A) TX (B) SX
©C) 12° (D) TY
46. E?tamnmmﬁﬂ%m%
(A) =
(B) wrag iy
C) Tg¥=
(D) =T
9. J
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ga o1 Tay
‘E;J':m} R ’ Eﬁ ?
12T O =
'7’:‘l" Paps
(({::\ T aﬁ 5
(© Qé'ﬁ'gng'{' wHfaed
MY ©) s, 3. ug. eIk
‘=;"v;'fﬂﬁ'm%i{(mm anAP ? 48. g,?% . aaq-mﬁm’}“ﬁm

(A) 1,1,2,2,3,3, -
(B) 0.3, 0.33,0.333, ...

1 1 1
© 228

(D) 3,412,427, 48,...

s0. 2017-18FfEfemnamawe___
ERUCERIRSCIRIRI

Vinister (B) Chief Minister (A) feraweft (B) e

finister (D) Home Minister (C) QYA (D) Tt

- folowing with their pairs. 50. ﬁﬂ%@aﬁﬁw@ﬁm|

“onera. 1. Blanket of air which | SteHsd 1. Geefter STaRaFaTeT

surrounds the earth - dTg <hT AT
. Domain of water Il. W o FAFISNA
. ﬁl?\g;a;iﬁnalforceof Il Seved 3 H@WWW
t 4. Our surroundings Iv. w IY[ r 4. mmaﬁf
. Narrow zone where 5. W &R, el i, I
land, water and air 3R a1y
 interact FA 2
Relatlgnbetween thg 6. Shar 3 ITh =R 37T
. Oorganisms and their ¥ g ge
~ surroundings SISTH
‘ *'*f!‘?‘?‘f?! m%gﬁq
;_? V-6 (A) 1-2 1I-5 W-3 IV-6
s :\\;:g B) 1-5 11-6 1l -1 V-4
M=o V4 C I-1 1I-4 mM-2 |v-3
Wt x5 D@ 1-5 -1 m-2 v-4
2ESCEDtors s 1o 51 :
. YT e o Rt H|

(A) WP AT YaT AT
(B) & 1 vat erTrT
(C) W1 =1 uat &y
(D) ﬁ"Ta’quaTm

 -10-
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2 Find the mlssmg number in the sequence
5% 4 9,16,25,36,7

(A) 47
() 72

(B) 49
(D) None of these

Prithviraj Raso was written by ‘
(A) Sursagara (B) Chand Bardai
(C) Panipath (D) Geethagovinda

What are the values of y if the distance
between the points (2, y) and (- 4, 3) is 10 ?

(A) 1Mand-5 (B) 2and3
(C) Oand1 (D) None of these

. 'Kavi Maldevwas a - __poet
of Haryana.

(A) Sanskrit (B) English
(C) Urdu (D) Hindi

The capital city of Haryana is
(A) Ambala (B) Chandigarh
(C) Rohtak (D) Karnal

A c_ertain number is 4 times the sum of the
d|g|t.s. If 18 is added to the number, the digits
get interchanged. Then the number is

(A) 42 (B) 24

(C) 36 T (D) None of these

58. The non- t,ure is
w r« | |
g (C) Bi@a

59, [ﬁlﬁ‘[}i; adii “1: two circles &
e‘] cm W'}rjﬁjw ? NE
which | has circur mnier:
the circ um)m nce (¢

A o9cm
(A) 19.cm

M‘\ 16 cm
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f .4/2018 1) (M10) irror is | 61.
61 Ar('a i)m(age formed by @ PIan® e
always '
(A) lllusionary image
(B) Virtual image
C) Real image
gD) Reflection mad® oo, Tft 27 TR H) G o, T I T H
t of that . ?
62. If August27"was Monday , then 140 2 143]{]’@3-?[@7[—'{:{'[%3 2l
month was on T esday (A) THAR (B) AR
(A) Monday 6 T (C) FHAR (D) PN
(C) Wednesday (D) Friday
. 63. wrmoT =1 T UE 8
63. The state bird of Haryana s A) R (B) arar
), (A) Peacock (B) Parrot . p) el SRR
(C) Pigeon (D) Black Francolin (C) &I . (D) scileh
he govemnor of Haryana is appointed by |  64. gmm@?ﬁa%w EIRERIED]
| Y(A) Prime Minister (B) President (A) qeE (B) TI"Z‘T%
"7 (C) Chief Minister, (D) People (C) TEawHt (D) =
" 65. Goddess Bhawani Amba temple is in 65. el WA oFaT T AR ¥R
(A) Rohtak District (B) Manipur District (A) Treaes fStem (B) #fOTgR forett
(C) Ambala District (D) Gurgaon District (@) ofmeifrer (D) TemE Rrem
66. Haryana is called as the 66. =TT St = %l
(A) Land of temples (A) TR R off Lol
(B) Land of flowers (B) U@;[ ﬁ ‘iﬁ‘f
(C) Breadbasket of India €) W@ ﬁﬁi N
(D) Pious state J
(D) ufaw U=
67. Star monument is the Samadhi of
67. I%ﬁmm
(A) Tarachandji Maharaj A . 6 Ty R
(B) Narayana Swami ) AEIGS weR
(C) Shivaj (B) TR Ty
) Shivaji ,
(D) Govindh Singh (C) ﬁﬁ%
(D) mfag R
88. Which type of soil havinn wi
, _ aving highest
holding capacity 7 water [ gg. g s
(A) Sandy soitly Wﬁmﬁ‘;ﬁg?ﬁm IR T 5 g
(B) Clay soil X :
(©) Loamy soi | | EB; Xeftet) et
(D) Mixture of sand C | ”;:“TET
-12-
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(M dﬂlﬂTfU
(B) lﬁgl.@

© while

(D) after
70 o “v i utw 2ined a lot, we en,
holiday. | 78 | amie
(A) Altho gh | Jan
(B) Thou o
(C) Even though
() In spite of
n (D) by

; I ; E 4 L1 B~
moose the correct form of the verbs
B
go | Choose the correct meaning of the underlined idiom

1. What was wrong with you ? Wh : '
7 . from the given options.

to hospital 2

(A) hagj you to

(B) did you have to
(€) mustyou

(D) shoul 'you

77. He is now a_gentleman at large living as

best as he can.

(A) Dominating

(B) Atliberty

(C) A person without any serious occupation

N oo, (D) Ordinary and undistinguished
'Sh-e‘ —  fromfluwhen she was |

inte’ﬂi%
.gﬁﬂfbﬁ\
i{mbjie”)rr uffel
G) Had suffer,
-ﬂﬁ)um d

A sensible man, as a rule, cares much,for
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